
Harry completed three laps of a circuit.  Harry’s lap times were 24 minutes, 18 minutes, and 23 
minutes. What was Harry’s total time?

To calculate the perimeter of a triangle, add the length of each side. What is the perimeter of a 
triangle with 67 cm, 79 cm and 83 cm sides?

Macy has 17 cards. Ben has 2 more than Macy. Susie has 5 less than Ben. How many cards do 
they have altogether?

Adding three numbers

All the students caught a bus to the zoo. There were 60 students on bus 1, 69 students on bus 2 
and 84 students on bus 3. How many students went to the zoo?

The weight of three boxes is shown. 
Box 1: 76 kg     Box 2: 86 kg     Box 3: 96 kg
What is the total weight of the three boxes?

There are 67 sheep in each of three paddocks on a farm. How many sheep on the farm?

Number of people who went for a camel ride on Monday.
Morning: 27          Midday: 43          Afternoon: 36
How many people went for a camel ride on Monday?

Jackson bought a shirt for $33, a pair of pants for $24 and a pair of shoes for $45. How much did 
Jackson spend?

Tim earned $57 on Monday, $78 on Tuesday and $89 on Wednesday. How much did Tim earn 
over the three days?

A length of rope is cut into 3 pieces. 
Piece 1: 85 cm          Piece 2: 95 cm          Piece 3: 97 cm
What was the length of the rope before it was cut?
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